Chapter 3 Section 3.1–3.4  Even Answers (mostly!)
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Section 3.1

Class Exercises

1. -270o
2. 600o
3. 135o
4. -810o
5. I

6. II

7. III

8. I

9. 40.30o
10. 129.18o
11. 
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12. 
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13. (-75 + 360k)o, 285o
14. (700 + 360k)o, 340o
15. (-275 + 360k)o, 85o
16. 369,000o
17. 360o spans the circle

Practice Exercises 3.1

2. 216o
4. -1530o
6. 300o
8. negative x-axis

10. II

12. negative x-axis

14. 67.52o
16. 16.10o
18. 
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20. 
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22. 5400o, 720o
24. [image: image5.jpg]



26. [image: image6.jpg]



Section 3.3 (continued)
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7. 315.1 rpm

8. 504.2 rpm

9. 842.2 rpm

10. 4.71 rad/s

11. 0.15 rad/s

12. 16.5 ft/s

13. 1036.7 mph

Section 3.3

Practice Exercises

2. 
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4. 3.82 rad/s

6. 8.23 rad/s

8. 544.31 rpm

10. 50 rpm

12. 
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in/s

14. 187 cm/s

16. 0.7 m/s

20. 2 cm/s

22. 
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cm/s

24. 
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cm/s

26. 146.6 ft/s

28. 106.1 in/s

30. 
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      11.62 rpm

32. 
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      2.98 rpm

34. 17.5 ft/s

35. Linear speed? 
Ride outside.

Angular speed?

Doesn’t matter.
36. In order for the

end of the whip to 

keep moving with 

the same angular 

velocity, the end 

person must skate the 

fastest!
37. Teacup ride at 
Disneyland
38. third 
28. 45o, 225o


30. Congruent angles have equal measures. Coterminal angles have the same terminal side but 30o� EMBED Equation.DSMT4  ���390o


32. Divide minutes by 60 and seconds by 3600 to get both in decimal degrees, then


add.


34. 81,000o


36. 33,480o


38. 570o


40. 15,105,195,285o


42. 73.90o


44. � EMBED Equation.DSMT4  ���


46. 114o





Review 3.1


(5x+y)(25x2 – 5xy + y2)


2. (2x – 3y)2 


3. square


4. right triangle


5. y = 2x – 3


6. (-2,5), (2,5)


7. P(x) = 5x3 + x2 + 


                   45x + 9


8. slopes are… 


� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���� EMBED Equation.DSMT4  ���= -1


9. II, III, IV, I


10. graph for x > 1 and reflect about x = 1


11. 108o


12. 120o








Section 3.2


Class Exercises


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


5. 120o


6. 150o


7. 38.2o


8. 286.5o


9. � EMBED Equation.DSMT4  ���


10. � EMBED Equation.DSMT4  ���


11. � EMBED Equation.DSMT4  ���cm


12. 32.2 cm


13. 19.6 in2


14. 5.3 in2


15. 3318 mi


16. � EMBED Equation.DSMT4  ���


17. �


Section 3.2


Practice Exercises


2. � EMBED Equation.DSMT4  ���


4. � EMBED Equation.DSMT4  ���


6. � EMBED Equation.DSMT4  ���


8. -170o


10. 558o


12. 171.9o


14. 81.4o


16. 612.6 cm


18. 82.8o


20. 5.4 in.








22. ex/ yard, foot


24. -.7R


26. -2.1R


28. 15.4 ft


30. 50.4o


32. 18.1 cm


34. 15.1 cm2


36. 29.2 cm2


38. The definition of an angle as the union of two rays with a common endpoint doesn’t take into account the direction in which the angle was generated.


40. 4224 rad


42. 4.5 rad


44. � EMBED Equation.DSMT4  ���, � EMBED Equation.DSMT4  ���


46. 7.5 m


48. � EMBED Equation.DSMT4  ���





Challenge 3.2


1. This isn’t true in general for inverse functions as often 


Df � EMBED Equation.DSMT4  ���Dg .  


ex/ f(x) = x3 and � EMBED Equation.DSMT4  ��� does work


2. � EMBED Equation.DSMT4  ���


3. a = b





Section 3.3


Class Exercises


1. � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. 10.5 rad/s


4. 26.7 rad/s


5. 20.1 rad/s


6. 19.8 rad/s





40. If � EMBED Equation.DSMT4  ��� is in degrees, then the distance traveled or arc length would be � EMBED Equation.DSMT4  ��� 


and now � EMBED Equation.DSMT4  ��� 


42. v =� EMBED Equation.DSMT4  ���cm/min


� EMBED Equation.DSMT4  ���


44. .155 mi/s or


     558 mi/h


46. 66,705 mph


48. 221.05 rpm





Review 3.3


1. 0, � EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. �


4. �


5. p(x) = anxn + 


an-1xn-1 +…+a1x + a0�


6. IV


7. III


8. (6,2,3) consistent and independent


9. 87, not a factor


10. �


11. even 


12. odd


13. a2+2ab+b2+1


a2+b2+2ab+2a+2b+1


14. 2a3+6a2b+6ab2+2b3


8a3+24a2b+24ab2+8b3








Section 3.4


Class Exercises


1.� EMBED Equation.DSMT4  ���


� EMBED Equation.DSMT4  ���


2. � EMBED Equation.DSMT4  ���


3. � EMBED Equation.DSMT4  ���


4. +


5. negative


6. 0


7. negative


8. � EMBED Equation.DSMT4  ���


9. � EMBED Equation.DSMT4  ���


10. cosine and sine values are dependent upon the end of the coterminal angle, not their angle measures





Section 3.4


Practice Exercises


2. � EMBED Equation.DSMT4  ���


4. 0


6. +


8. negative


10. � EMBED Equation.DSMT4  ���


12. � EMBED Equation.DSMT4  ���


14. � EMBED Equation.DSMT4  ���


16. � EMBED Equation.DSMT4  ���


18. � EMBED Equation.DSMT4  ���


20.� EMBED Equation.DSMT4  ���


22. 1, 0


24. -0.6


26. I, IV


28. III, IV


30. II, IV


32. IV





33. no, horizontal line test


34. 0 , see unit circle


36. � EMBED Equation.DSMT4  ��� at the top or bottom of the unit circle


38. �


40. Intersect y = x with x2 + y2 = 1 in the 1st quadrant to get:


x2 + x2 = 2x2 = 1 and 


hence x = y = � EMBED Equation.DSMT4  ���


42. � EMBED Equation.DSMT4  ��� with r=1, we have s = t


44. decreases from 1 to 0


46. decreases from 


0 to -1


48. � EMBED Equation.DSMT4  ���





Challenge 3.4


1. 8.5


�


2. -50


3. -10
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